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	2V0-622 Latest Dumps Free Download From Lead2pass: https://www.lead2pass.com/2v0-622.html  QUESTION 1An

administrator wants to provide users restricted access. The users should only be able to perform the following tasks: -Create and

consolidate virtual machine snapshots-Add/Remove virtual disks-Snapshot Management Which default role in vCenter Server

would meet the administrator's requirements for the users? A.    Virtual machine userB.    Virtual machine power userC.    Virtual

Datacenter administratorD.    VMware Consolidated Backup userAnswer: B QUESTION 2Which two roles can be modified?

(Choose two.) A.    AdministratorB.    Network AdministratorC.    Datastore ConsumerD.    Read-Only Answer: BC QUESTION

3An administrator with global administrator privileges creates a custom role but fails to assign any privileges to it.Which two

privileges would the custom role have? (Choose two.) A.    System.ViewB.    System.AnonymousC.    System.UserD.   

System.ReadOnly Answer: AB QUESTION 4An administrator wishes to give a user the ability to manage snapshots for virtual

machines.Which privilege does the administrator need to assign to the user? A.    Datastore.Allocate SpaceB.    Virtual

machine.Configuration.create snapshotC.    Virtual machine.Configuration.manage snapshotD.    Datastore.Browse Datastore

Answer: A QUESTION 5An object has inherited permissions from two parent objects.What is true about the permissions on the

object? A.    The common permissions between the two are applied and the rest are discarded.B.    The permissions are combined

from both parent objects.C.    No permissions are applied from the parent objects.D.    The permission is randomly selected from

either of the two parent objects. Answer: B QUESTION 6Which feature helps in managing the power consumed by a cluster when

virtual machine usage is low? A.    vMotionB.    Dynamic Resource SchedulerC.    Distributed Power ManagementD.    Storage

vMotion Answer: C QUESTION 7Where does Fault Tolerance store the primary and secondary virtual machine files? A.    Only

local storageB.    Only shared storageC.    Both shared and local storageD.    SSD Answer: C QUESTION 8VMware vSphere 6.x

provides which three capabilities? (Choose three.) A.    Data center extensionB.    Manage virtual machines with simple and intuitive

toolsC.    Perform live workload migrationsD.    Zero data center clown timeE.    Predictive analytics Answer: BCD QUESTION

9What is the minimum number of virtual NICs that you can configure for a virtual machine? A.    FourB.    OneC.    ZeroD.    Two

Answer: C QUESTION 10Why does iSCSI use hardware and software initiators? A.    To initiate connectivity to hardware and

software componentsB.    To enable storage of data.C.    To obtain native support within ESXi.D.    To establish network

connectivity. Answer: C 2V0-622 dumps full version (PDF&VCE): https://www.lead2pass.com/2v0-622.html  Large amount of
free 2V0-622 exam questions on Google Drive: https://drive.google.com/open?id=0B3Syig5i8gpDREhST1JQZXc0M0U  You

may also need: 2V0-622D exam dumps: https://drive.google.com/open?id=0B3Syig5i8gpDTkkwTk43VTR2aGs
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